



About Us

Dreams Life Maker works as a catalyst in the cycle of change, complementing. We sensitize and partner with like-minded institutions and individuals to implement high-impact programmes that enable access, enhance quality and help bring long term behavioural change at the grassroots. On our way, we had to make many difficult choices and constantly innovate – whether it was choosing to work on the ground through a service-delivery approach, practicing management principles and adopting a business-like approach in the development sector, creating a unique resource modeling keeping businesses at the centre, or promoting the concept of civic driven change. Yes, we almost always took the road less travelled, and as they say, that has made all the difference!

Development was looked at through the prism of sustainability and efforts focused on enlisting participation and ownership of programmes by the people in all developmental efforts.

Give Help

- Helping Amonut Rs. 400/-
- ♣ Pin Cost Rs. 100/-
- ♣ By contributing Rs.400, you may be get help of Rs. 26,15,600.









*All Banks



Get Help

MEMBER	GIVE HELP	TOTAL GET HELP	FOR NEXT HELP	SPONSOR INCOME	REBIRTH	YOUR INCOME	ELIGIBILITY OF REFERRAL
Gold - 4	400	1,600	800	400	Nil	400	1
Silver - 9	800	7,200	2,400	1,600	Nil	3,200	2
Diamond - 10	2,400	24,000	10,800	4,800	Nil	8,400	4
Platinum - 20	10,800	2,16,000	90,000	32,400	Nil	93,600	8
Crown Ambassador - 30	90,000	27,00,000	Nil	1,80,000	10,000	25,10,000	16
				2,19,200		26,15,600	31







- Only those who have completed 18 years of age can become members.
- If you want to make an income, you need to make direct referrals.
- Any one ID Proof mandatory. One can register multiple number of IDs.
- If you want to make an income, you need to make direct referrals
- Those who sign up for help must help within 5 hours. Otherwise his ID will be blocked and another helper will be assigned to the receiver.
- All members must add bank details and UPI number and ID regularly.

THANK YOU



www.dreamlifemaker.net | info@dreamlifemaker.net